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193|/\KiRF7 /3—F 2 EHH[S50 |RC 4 0 1,376.7 A DEEH (BUETE) |RLIBHEDERTER
194|AKIRT7 /83— 3 Eh(s48  |RC 4 0 1,266.0 A DEEH (BETE) |RIBHEDERTER
195|/AKIR7 /38— 4 EHW[s51  |RC 4 0 1,481.4 A DEEH (BETE) |RLIBHEDERTER
196|F@s BT /8—hk 1 EHW[S57 |RC 4 0 1,187.0 | #iE FREEES |RIEGEHEESER
197\ ET7/8—k 2 EH[S57 |RC 4 0 1,780.6 | #ifit = FMREEES |RIEGEVEESER
198|Fs ET7/8—hk 3 EhT(ss8  |RC 4 0 1,187.0 | #itE FMREEES |RIEGEVEESER
199|Fs BT /38— 4 EhT(ss8  |RC 4 0 1,187.0 | #iE FREEES |RIEGEVEESER
200|# 4 EAL T/ 8—hk 1 EHT(Ss9  |RC 4 0 1,780.6 | #iiit = FRELEES |RiRHEBEEEER
201 |y EAL 7 /78— 2 Eo|HI RC 4 0 1,780.6 | #hi &= FMEEEEE B+ EEREETER
202|Fy EAL T 78—k 3 Eo|H3 RC 4 0 1,780.6 | #hi &= FMEEEES B+ EEREEEER




. e | o . PE e it et j
BS i (| FIEM |REE| HE EAPREH — HLEE wE
i | #HT A7) BE
203|EEERARFEAHEEEE 1 REfE i |H8 SRC 8 0 1,9055 | #itE FMEREEES |RIBHEDEEEEE
204|FH 7 /3 —F 1 £AT|H24 |RC 7 0 7,805.4 | it = FMEREES (BIEEHEESER
2057 /8—h 1 £AMH|H28 |RC 4 0 1,679.6 | FritE FEREES (BErEEHefidsR
206 | A [RAT 73—k 1 EZHM[H28 [RC 6 0 3,165.7 | #E= FMEREEES B EEREEEER
207| A [RAT 73— 2 EZHM[H28 [RC 6 0 1,446.3 | #iiit = FMEREEES B EEREEETER
208|A[RB7 /3 —h 1 ZHMH29 [RC 6 0 3,165.6 | FME= FMEREEES B EEREEEFER
209|A[RB7 /3 —F 2 ZHMH29 [RC 6 0 1,446.2 | #iiit = FMEREEES B EEREEEER
21088 B E1T7 /8 —k 1 ZHMH29 [RC 5 0 4,100.1 | FE FMEEEES B EEREEETER
211 iR E27 /8 —k 1 ZHMH29 [RC 5 0 2,676.6 | FME FMEEEEE B EEREEETER
212|mART/N—k 1 ZRM|H30 |RC 5 0 1,865.3 | it &= FREEES |RiRHEDEEEER
213| 2[R 7 /—k 1 IUEET|H25 S 3 0 2,361.1 | FHMHE FMEREEES (BRIEEHEESAER
214| 2[R 7 /—k 2 IUEET|H25 S 3 0 2,361.1 | FHMHE FMEREEES (BRIEEHEESAER
215(85E 78—~ 1 ILUMET|H26 |RC 4 0 1,875.1 | $rifitE= FRELEES |RiRHEBEEEER
216|857 /83—~ 2 ILUEET|H26 |RC 4 0 2,106.9 | = FRELEES |RiRHEDEEEER
217\ KiR7 73—+ 1 ILIAAT(H26  |RC 5 0 34338 | FME FRELEES |RiRHEDEEEER
218|dtiET /—F 1 ILIAAT(H28  |RC 5 0 6,015.8 | M= FRELEES |RiRHEDEEEER
219|{ER 27 /3—h 1 EWW(H26  |RC 5 0 3,237.1 | MR FMEREEES |RIBRHEEEER
220| =BT 7 /3 —h 1 EHW(H26  |S 3 0 1516.2 | #itE= FMREEES (RrEEHEEEESR
221| &7 /58— 1 Eh[H26  |RC 4 0 1,401.8 | #itE FREEES |RiRHEDEEEER
222|RE7/3—F 1 EnT|H26 S 3 0 1,462.2 | #ifit = FMEREEEE B+ EEREEEFER
223|RRIE T /X —b 1 BEHW(H27 |S 4 0 1679.2 [ #FiltE FMEREES |RIBEFEDEEEER
224|)\KiRE27 /13— 1 EWW(H26  |RC 5 0 3,328.3 | = FMEREES (BIEEHEESEER
225| EFT /3 —b 1| Kiigm|H25 |RC 7 0 5215.1 | #THE FMEREES (BIEESHEESEER
226|HEVETT 73—k 1| KhaiEm|H26 [RC 6 0 44821 | FHHE FMEREEES (BIEEHEESEER
227|HEVET T 73—k 2| KfipiEmi|H26 |RC 6 0 44821 | FHHE FMEREEES (BIEEHEESEER
228|AHEYRIT 18—k 3| AMiEmi|H26 [RC 6 0 42151 | M= FMEREEES (BRIEEHEESEER
229|B8 AT /3—F 1| KfigEm|H27 |RC 5 0 3,0504 | = FEREEEE |BRiEHEDEEEER
230| BERAT 7 /S —k 1 KHaET|H26  [RC 5 0 4,710.5 | #HmE FMEREEEES |RIEHEDEEETEF
231 | BERAT 7 /S —k 2 KHaET|H26  [RC 5 0 4,888.1 | #ME FMEREEEES |RIZHEDEEETEF




. e | o . PE e it et j
BS i e| TER (BREE| HE EAREM — HLEFB ok
i | #HT A7) BE

232| EBAET7 13— 3 KHEET|H26  |RC 5 0 4,937.7 | FTHE FMEREES (BIEEHEESAER
233| KET7 /83—~ 1 KHEET|H30 |RC 5 0 1,703.8 | it E FMEREES (BIEEHEESEER
234|RiET 18—+ 1 KHEET|H30 |RC 5 0 1,717.3 | #hitE FMEREES (BIEEHEESAER
235| LB 7 /8—h 1 KHEET|H30 [RC 5 0 1,664.5 | #rifit = FRELEES |RiRHEDEEEER
236|#FiRT 18—k 1| BERTRAT[H28  |RC 8 0 9,209.8 | FifiiE= FEREEEE |BRiEHEDEEEER
237|#FriRT 18—k 2|EERT= AT |H28  |RC 9 0 92130 | HiifiE= FEREEEE |BRiEHEDEEEER
238|lREE—T7 /31— 8 BERET|H29 |RC 3 0 1,846.2 | #iifit = FMEEEES B+ EEREEEER
239|RERE—7 /31— 9 BERET|H30 |RC 3 0 12215 | #ifitE FMEEEES B+ EEREEEER
240| RIRRT/8—F 1 Jt E|R1 RC 4 0 23922 | HME | FHEREEES |RIEFEHEEFEER
241 |EE W7 /—k 1 REREI T |R2 RC 4 0 2,004.3 | = FMEEEES B+ EEREEEER
282|FF W7 /—k 2 REREI T |R2 RC 4 0 24154 | FTHE FMEEEES B+ EEREEEFER
243|FF LT /—k 3 REREI T |R2 RC 3 0 1,347.2 | #MHE FMEEEEE B+ EEREEEFER
244|FF W7 /—k 4 REREI T |R2 RC 3 0 1512.3 | #HME FMEEEES B+ EEREEEFER




